bool turn;

procedure pO0

{

while true do
{
NONCRITCIAL;
while (turn = 1)
CRITICAL;
turn := 1;

}

procedure pl
{
while true do
{

NONCRITCIAL;
while (turn = 0)
CRITICAL;
turn := 0;

do skip;

do skip;



procedure p0

{
11: while true do

{
12: NONCRITCIAL;

13: while (turn = 1) do 14:skip;
15: CRITICAL;
16: turn := 1;

}



procedure PO

{
11: while true do

{
12: NONCRITCIAL;

13: while (turn = 1) do 14skip;
15: CRITICAL;
16: turn := 1;
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MODULE p (turn, myturn) <:’—\f>>

VAR
s:{N, I, C, X};

ASSIGN OW.
init (s) := N; true

next (s) :=
case turn = myturn
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1: s;
esac;
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next (whoseturn) :=
case
(s = X) : !myturn;
1 : turn;
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MODULE main
VAR
turn: boolean;

p0: process p(turn, 0);
pl: process p(turn, 1);
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